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(BEWARE OF NEGATIVE MARKING )

TOPIC : Basic Mathematics used in Physics, Vectors, Units, Dimensions and Measurement, Electrostatics.
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Distance between two points (2,3,3) and (8,5,0) is:-
(1) 4 25 (3)6 4)7

(0.97)% is approximately equal to :-

(1) 0.99 (2) 0.01 (3) 0.985 (4) None
For the given (y—x) graph, find average value of
y over an interval 0 <x <3 :-

Ya

20

i 2 3

50 20
(1) 10 @ 5 G5 4 20

1 /2
The value of j9x8dx+ j cosxdx :-

0 0
11 2)3 3) 4 “4) 2
Find the angle made by straight line x + y =4 with
positive x-axis is :-
(1) 45° (2) 135°  (3) 60° (4)-120°
The side of a square is increasing at rate of
0.2 cm/s. The rate of increase of perimeter w.r.t.
time is :-
(1) 0.2 cm/s (2) 04 cm/s
(3) 0.6 cm/s (4):0.8 cm/s
Two particles A and B are moving inx-y plane. Their
positions vary with time 't according to relation :
X, (1) = 3t, x5(t) = 6 and y, (1) = t, y,(t) =243t%
The distance between these particles at t = 1 is:-
5 (2)3 (3) 4 @ V12
Sun rays cast 146m long shadow of a pole, when
Sun is 37° above horizontal. When Sun rises to
53° above horizontal, length of shadow become:-
(1) 8 m @)16m (3)9m 4)4m
Theminimum value of the function given below
wil be:

2
4+sin6+\/§cosﬁ

1 1
SORY @1 ()3 @ 5

1.
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b
If0, +0,= E and 0, = 20, , then the value of

sin29l + cosze2 is :-

1 3
) = 2) 1 - 4)2
el @5 @
In the figure shown below the angle in between
A and B is :
B
C=—
( 5 )
B
—_
C
) X
(1) 30° (2) 60° (3) 120°  (4) 150°
la+b] . .
If ——= =1, the angle between a and b is:
|la-bl|
(1) 0° (2) 45° (3) 90° (4) 60°

100 coplanar forces each equal to 10 N a acting

T
body. Each force makes angle 50 with the

preceding force, what is the resultant of the forces:
(1) 1000 N (2) 500 N

(3) 250 N (4) zero

If the ratio of maximum and minimum magnitudes

of the resultant of two vectors a and b is 3 : 1

then |a| is equal to :-

(M 1] (@) 21b] 3 3]b] @) 4]b|

The component of \vector 2i-3j+2k

perpendicular to % 3 Tk s

(1) g(i—zjﬂé) ) %(i+}—2f<)

) (71—10}+7f<) N 1(51—8}+5f<)

The‘angle'between two vectors
ﬁ=—i+%+f< and S=Xi+3j+(X-1)k
(1) Is obtuse angle (2) Is acute angle

(3) Is right angle (4) Depend on X
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If A=2i+pj+qk , B=5i+7j+3k and A||B,
then values of p and q are :-

lﬁdé 2Edé
()San5 ()3an5

()San3 ()4an4

Kinetic energy of a particle moving along
elliptical trajectory is given by K = a. S*, where
S is the distance travelled by the particle. The
dimensions of o are :-

(1) [a] = M'T?] 2) [a] = [M’T7]

(3) [a] = M*T] 4) [a] = M™'T?]
The radius of a ball is [5.4 = 0.2]cm. The
percentage error in the volume of the ball is :-
1) 11% (2) 4% 3) 7% 4) 9%
Which relation can not obtained dimensionally :

Force
Area

(2) Volume = Length x Area

(1) Pressure =

(Momentum)®

(3) Thermal energy = Aren

(4) Distance = speed x time

Four charges +q, —q, +q, —q are placed in orderon
the four consecutive corners of a square of side'a’.
The work done in interchanging the positions of any
two neighbouring charges of opposite sign is.:-

—(4+2)

M 3 ) ﬁgoa@ﬂﬁ)

nsa

(4-2V2)

(3) (4) 47(51803 (4 i \/5)

nsa

A point charge q is kept at A. The potential at point
P at distance r fromvitis V and twice of this charge
is distributed uniformly on the surface of a hollow
sphere of radius 4r.with centre at point A, the total
potential at‘point Pis :-

A%
OV L @S e @y

Three.identical charges are placed at corners of
an equilateral triangle of side /. If force between

any twocharges is F, the work required to double
the separation between charges of triangle is :-

() -3F ()3F (3) —%Fﬁ ) %w
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OA =2i+pj+qk [ B=5i+7)+3k 0IIA | B
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(3) [a] = [M*T] 4) [a] = [M™'T?]
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Two concentric spheres of radii R and 2R are
charged. The inner sphere has a charge of 1uC and
the outer sphere has a charge of 2uC of the same
sign. The potential is 9000 V at a distance 3R from
the common centre. The value of R is :-

(1) Im 2)2m 3)3m 4)4m
A proton, a deuteron and an alpha particle are
accelerated through potentials of V, 2 V and 4V
respectively, then the ratio of their velocities is:-
(H1:1 2) 1:42:1

(3) v2:1:1 @ 1:1:42

1000 drops of same size are charged to a potential
of 1 V each. If they coalesce to form a single drop,
its potential would be :-

v 210V 3100V (4) 1000V
A solid sphere of radius R has charge 'q' uniformly
distributed over its volume. The distance from its
surface at which the electrostatic potential is equal
to half of the potential at the centre is :-

SR LR
@3 @5

Charges 2q and —q are placed at (a, 0) and

() R (2) 2R

(—a, 0) as shown in the figure. The coordinates of
the point at which electric field intensity is zero
will be (x, 0) then :-

yI
_q
@ [ *—>

+2q
X
(I)—-a<x<a ) x <—a
B)x>-a 4 0<x<a

Five point charges (+q each) are placed at the five
vertices of a regular hexagon of side 2a. What is
the magnitude of the net electric field at the centre
of the hexagon :
1 g
(M 4re, 2> ) 16me,a’
VJ2q 3q
3) 4mg a’ @) 16mg,a’
An electrical charge 2 x 10 C is placed at the
point.(1; 2, 4)m. Then at the point (4, 2, O)m,
(1).electric potential will be 36 V
(2) electric field will be along y-axis

(3) electric field will increase if the space between
the points is filled with a dielectric
(4) All of the above
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Four electric dipoles each of charges + e are placed
inside a sphere. The total electric flux of coming
out of the sphere is :-

(4) None of these

A charge (—q, m) is projected with initial velocity
V, in the direction of unidirectional field Ex as
shown in figure. Find distance covered by charge
before it comes to rest.
y
(-q, m) Ex
—> —

X

m m

DV, (2) 2V,

qE, qE,

2m
3V/i 4)V
()02qEO ()OqEO

Figure shows three charged circular arcs, each of

radius R, their centres are at same point and total
charge as indicated. The net electric potential at
the centre of curvature :-

+3Q

Q
@) 12ne R

(D) 2me R

3) 32me,R (4) none of these

In moving from A to B along an electric field line,
the work done by the electric field on an electric
is 6.4 x¢.107%.J. If ¢, and ¢, are equipotential
surface,.then the potential difference V-V, is:

)BQ'E x
A

(I)l (I)’
)4V

(1) 4V 3) zero (4) 64V
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Two point charges of 100 uC and —4 pC are
positioned at points (23, 33, —4) and
(43, —5V3, 6) respectively of a Cartesian
coordinate system. Find the force vector on the
—4 uC charge. All the coordinates are in meters.

(1) 9x107* (3331 - 443} +5k)
@) 9x107* (=331 +443j - 5k)
(3) 2.25x107* (=331 + 443} - 5k)

4) 2.25x107 (3431 - 44/3j + 5k

Four arrangements are given of three fixed electric
charges. In each arrangement, a point labeled P
is also identified — test charge, +q, is placed at
point P. All of the charges are of the same
magnitude Q, but they can be either positive or
negative as indicated. The charges and point P all
lie on a straight line. The distances between two
adjacent charges or between a charge and point
P, are all the same. Correct order of choices in a
decreasing order of magnitude of force on change
placed at P is :

OO @
II.@@g@
111.@@@3
IV.@@@E

MHO>I>1>1V 2)I>1I'> 11 > 1V
BGU>I>1v>1 @ HM>1v>I>1
Two large conducting sheets are kept parallel to
each other as shown. In equilibrium, the charge
density on facing:surfaces is o, and o, (5, > 0).
What is not the value of electric field at A.

O
A
Yy
(52 T_)
X
O, ~ OA ~
L3 2%
(! -1
€ €
; 01+621 ) (51—(52{
® "o, Ol
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Positive and negative charges of equal magnitude
lie along the symmetry axis of a cylinder. The
distance from the positive charge to the left end-
cap of the cylinder is the same as the distance from
the negative charge to the right end cap.

+Q -Q

right
end-cap

The flux of the electric field through the closed
cylinder is :

2) +2

o &,

2Q
3+

Q
@ e

The sign of the flux through the right end-cap of

the cylinder is :

(1) Positive

(2) Negative

(3) There is no flux through the right end-cap.

(4) None of these

Mark the correct option :

(1) Gaussian surface can not passthrough discrete
charge.

(2) Gaussian surface can't be of any shape.

(3) The electric field calculated by Gauss’s law

is the field only due to the charges inside the
Gaussian surface.

(4) The flux of the electric field through a closed
surface due to all the charges is equal to the flux
due to the charges enclosed by the surface.

Three concentric metallic spherical shells of radii

R, 2R, 3R, are given charges Q,, Q,, Q;,

respectively. It is found that the surface charge

densities on the outer surfaces of the shells are
equal. Then, the ratio of the charges given to the
shells, Q, : Q, : Q;, is

(H1:2:3

B3)1:4:9

@2 1:

4)1:8:18

(00038 - 39 L00do0
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A few electric field lines for a system of two
charges Q| and Q, fixed at two different points
on the x-axis are shown in the figure. These lines
suggest that :-

Q Q.

Mo > o)

@ lo| <o)

(3) at a finite distance to the left of Q, the electric
field is zero

(4) at a finite distance to the right of Q, the electric
field is not zero

A spherical portion has been removed from a solid

sphere having a charge distributed uniformly in

its volume as shown in the figure. The electric

field inside the emptied space is :

(1) zero everywhere

(2) nonzero and uniform

(3) nonuniform

(4) zero only at its center

Electrostatic force and gravitational force

between two bodies differ in which respect :

(1) Conservative force

(2) Central force

(3) Principle of superposition

(4) Dependence on the intervening medium

Two charged bodies A and B exert repulsive

forces on each other. If charge on A is more then

that on B, which of the following statement is true.

(1) Body A experiences more Colombian force
then B.

(2) Body. A experiences less Colombian force then
B.

(3) Both of them experience Colombian forces of
equal magnitude.

(4) Tt depends whether the bodies can be treated
as point like charges or not.
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|TOPIC : Solid State, Structure of Atom.
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If three elements X, Y and Z crystallise in a ccp
lattice with X atoms at the corners, Y atoms at the
cube centre and Z atoms at the edge centres the
formula of the compound will be :-

(D XYZ (2) XYZ, (3)XYZ, 4X,Y,Z
The fraction of the total volume occupied by the
atoms present in a simple cube is:-

T T
— 4 —
37 i
Dopping of AgCl crystals with CdCl, results in:-
(1) Schottky defect

(2) Frenkel defect
(3) Cationic vacancy

1E 2E
Lmg @

(4) Formation of F centre

Mark the incorrect pair from the following :-

(1) Schottky defect — Equal number of cations and
anions are missing.

(2) Frenkel defect — Dislocation of cation from
its normal site to an interstitial site

(3) Impurity defect — SrCl, in NaCl crystal to
create cationic vacancy

(4) Metal excess defect — Fe, 4,0

What is the effect of Frenkel defect on the density

of ionic solids :-

(1) The density of the crystal increases

(2) The density of the crystal decreases

(3) The density of the crystal remains unchanged

(4) There is no relationship between density of a
crystal and defect presentiin it

An element crystallises in a structure having a fcc

unit cell of an edge length 200"pm. If 200 g of

this element contain$ 24x:10% atoms then its

density is :-

(1) 41.66 g cm” (2) 3139 gcm™

(3)8.117 gcm” (4) 400 g cm™

How many éffective Na* and CI™ ions are present

respectively in aunit cell of NaCl solid (Rock salt

structure). If ions along one of the line connecting

opposite face centres are absent ?
7.7 7

L)'o55 (2) 4 7

7
@) 3.3 @ 5 4
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Target : Pre-Medical 2019/NEET-UG/08-07-2018

In a sohd, 0x1de ions are arranged in CCP.
one-sixth of the tetrahedral voids are occupied by
A cations and one-third of the octahedral voids are
occupied by B cations. The formula of solid is :-
(1) ABO (2) ABO,

(3) ABO, 4) A,B,0O,

The composition of a sample of Wustite is
Fe, 9,0, o,- What percentage of iron is present in
the form of Fe(IIl) ?

M8 % 2)15% (B)25% “A)93 %
The distance between an octahedral and

J3a

tetrahedral void in fcc lattice will be :-
4) —

(1) J3a fa fa y

P

Triclinic crystal system has the following unit cell
parameters :-

(a=b=c,a=p=y=90°
2)a=b=#c,a=p=y=90°
B)a#zb=c,a=xp=y=90°

@ a=b#c,a=p=90°y=120°

In a cubic unit cell seven corners are occupied by
atoms A and centres of faces are occupied by
atoms B. Then formula of compound is :-

(1) AB, (2) AB,
(3) A;B,, 4 AyB;
CsCl has bec structure with Cs™ at the centre and

CI” ion at each corner. If r_ . =1. 69A r. =1.81A.

CI”
What is the edge length of the cube:-
(H35A (2)38 A
(3)4.04 A 4)4.5 A

In diamond each carbon atom is bonded to four
other carbon atoms tetrahedrally. Alternate
tetrahedral voids of unit cell are occupied by
carbon atoms. Thesnumber of carbon atoms per
unit cell is :-

(1) 4 2) 6 3) 8 @) 12
Distance between. two tetrahedral voids is :-
f 3a a
() == @
a
3) E (4) All of these

Co-ordination number of cation and anion in fluorite
CaF, and anti fluorite Na,O are respectively :-
(1)8:4and 6 : 3 2)6:3and4 : 4
B3)8:4and 4 : 8 4)4:8and 8 : 4
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The ratio of radius cations to anion in a octahedral
close packing is
(1) 0.414 (2) 0.225
(3) 0.02 (4) 0912
The appearance of colour in solid state of alkali
metal halides is due to
(1) Frenkel defet (2) Schottky defect
(3) F-centre (4) None of these
What would be the effective number of atoms per
unit cell in end centered cubic unit cell if this type
of unit cell exist in nature ?
1 22 3)3 4) 4
In the solid compound Cu,Hg I, cations occupy
tetrahedral holes in a closed packed anion lattice.
What fraction of tetrahedral holes is filled ?

3 1
S @ 5

1 3
oy @y

Tungsten has an atomic radius of 0.136 nm. The

density of tungsten is 19.4 g/cm®. What is the

crystal structure of tungsten ? (Atomic weight of

Tungsten = 184)

(1) Simple cubic

(2) Body centered cubic

(3) Face centered cubic

(4) None of these

Which is incorrect statement ?

(1) In NaCl structure, tetrahedral voids are
unoccupied

(2) In ZnS structure, Octahedral veids are
unoccupied

(3) In CaF, structure all tetrahedral voids are
occupied

(4) In Na,O structure, all tetrahedral voids are
unoccupied

1 KW radiotransmitter operates at frequency of

800 Hz, how many photons per second does it emit:-

(1) 1.6 x 10* (2) 6.023 x 10™

(3) 1.86 x 10% (4)2.85x 10"

An element has atomic number 30, it contains two

unit positive charge then how many protons and

electrons are present in cation respectively ?

(1).30, 28 (2) 28, 30

(3) 28, 28 (4) 30, 30

Which of the following represents isotones ?

(1) 6Clz 6C13 6C14 ) 18Ar38 19K39 20Ca40

3) 8016 8018 (4) 32Ge77 33AS77
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The radius of second stationary orbit in Bohr's

atom in R. The radius of 3" orbit will be :-

2 R 3) R
4 4

(1) 9R (4) 2R

The speed of an €™ in Bohr's orbit is proportional

to :-
Z n’ Z Z

@ — @ — 3 — @ =
n Z n n

The potential energy of an electron in the
hydrogen atom is —6.8 eV then in which excited
state, the electron is present :-

(1) First (2) Second

(3) Third (4) Fourth

How many no. of orbitals associated with the
principal quantum no. n =3 ?

(1) 8 2)3 39 (4) 16

If m is the magnetic quantum number and / is the
azimuthal quantum number then :-

(Dm=/+2 Q)m=20"+1
m_
3) =5 @ /l=2m+1
Which of the following sets of quantum numbers
is correct ?
IHn=1 (=1 m=4+2
2)n=2 (=1 m=+1
B)n=3 (=3 m=-2
@Hn=3 /(=4 m=-2

Which of the following transition in‘H atom will
emit a photon with maximum frequency ?
(Dn=4ton=1 2)n=2ton=1
B)n=4ton=2 4@n=1ton=5
Calculate the minimum and maximum number of
electrons which have magnetic quantum number
m = +1 and spin quantum number. s = -2 in
chromium (Cr)«:-

(1)4,6 (2).2,3 3)0,1 @12
If the velocity of a particle is reduced to 1/3“, then
percentage increase in its de-Broglie wavelength
will be.:-

(1) 100% (2) 200% (3) 50% (4)33.3%
If the velocity of an electron in Bohr's first orbit
i$:2:19 % 10° m/s. What will be the de Broglie
wavelength associated with it ?

(1)2.19 x 10° m (2) 438 x 10° m
(3)3.32x 10" m (4)3.32 x 10° m
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In an atom 2K, 8L, 8M , 2N electrons are present.
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81.
If m =0, s = 1/2, then find number of such e® :-
1)6 2)2 3) 8 4) 16
82. The number of radial nodes in 3s and 2p subshells
respectively are :-
(1) 2 and O (2) 1 and 2
(3) 0 and 2 (4)2 and 1
83. How many electrons in an atom can have n=3,
/=1, m=-1and s = +1»
M1 22 3) 4 46
84. If ionisation potential of hydrogen atom is
13.6 eV, then ionisation potential of He* will be
(1) 544 eV (2) 6.8 eV
(3) 13.6 eV (4) 245 eV
85. What is the ratio of radius of 3 & 5™ orbit of
Li*? -
Mm3:5 @25:3 B3)1:1 4)9:25
86. The highest excited state that an electron of
unexcited hydrogen atom can reach when they are
bombarded with 12.2 eV electron, is :-
(1) 1% (2) 2™ (3) 31 (4) 4™
87. In hydrogen atom required energy to excite an
electron from ground state to 2™ excited state:-
(1) %x Ionization energy
1 o
) 5 x lonization energy
8 .
3) 5 x lonization energy
(4) None of these
88. What will be uncertainity in'velocity of an e if
uncertainity in its position is 1A
(1) 8.76 x 10°m/s (2):5.76 x 10° m/s
(3) 5 x 107 m/s (4)1 x 10% m/s
89.  If the electronic configuration of oxygen atom in
2p4
ground state iSiwrittenvas 1s2 252 2p* [HTH] it
would violate :
(1) Pauli's exclusion principle
(2) Hund's rule
(3) Both Pauli's and Hund's principle
(4).None of these
90. (Thenumber of spectral lines in hydrogen spectrum
when e falls from 4" excited state to infrared
region only :-
(1) 10 2)3 3) 2 46
0999DMD31 0318001 .
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TOPIC : Reproduction: Reproduction in organisms, Sexual reproduction in flowering plants, Structural
Organisation in Plants, Anatomy, Human Reproduction, Reproductive health.
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The decision that the plant is going to flower has
taken place :-

(1) After the flower is formed

(2) After sepals and petals are formed

(3) After androecium and gynoecium are formed
(4) Much before the actual flower is seen on a plant
Which end of the filament is attached to the
thalamus or the petal of the flower ?

(1) Distal (2) Proximal

(3) Lateral (4) Tangential

How many microsporangia are present in each
lobe of a typical anther ?

(1) One (2) Two (3) Three (4) Four
The anthers mature and dehydrate the microspores
dissociate from each other and develop into :-

(1) Megaspore (2) Seed

(3) Pollen grain (4) Embryosac

When the anther is young, a group of compactly
arranged homogenous cells occupy the centre
of each microsporangium. These cells are
called the :

(1) Megaspore mother cells

(2) Archesporial cells

(3) Primary parietal cells

(4) Sporogenous tissue

The diagram represents enlarged view of an
egg apparatus showing entry of pollen tube.
Identify labelled structures [A] and [B] of diagram.

Plasma
membrane

Central cell

Filiform

(I)[A] Egg nucleus, [B] Male gametes
(2)-[A] Egg nucleus, [B] Vegetative nucleus
(3) [A] Synergid, [B] Vegetative nucleus
(4) [A] Synergid, [B] Male gametes
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What serves as the landing platform for pollen
grains ?

(1) Style (2) Stamen

(3) Ovary (4) Stigma

In angiosperms how many megaspore mother
cells are required to produce 600 functional
megaspores ?

(1) 600 (2) 150 (3) 2400 (4) 200
In angiospermic plants, ovule is equivalent to :
(1) Megasporangium
(3) Megaspore
Which pollination is acheived within the same

(2) Microsporangium
(4) Microspore

flower ?

(1) Geitonogamy
(3) Xenogamy
Function of micropyle in a mature seed is :

(2) Cross pollination
(4) Autogamy

(1) Entry of pollen tube

(2) Entry of fertilization tube

(3) Entry of water and air

4 All

Monoecious plants prevent ?

(1) Both autogamy and geitonogamy

(2) Only autogamy but not gietonogamy

(3) Only xenogamy but not gietonogamy

(4) Only gietonogamy but not autogamy

Pollination is essential in angiosperm plants

because :-

(1) It decreases the time required for fertilization

(2) Both of the male and female gametes are
non-motile and they need to be brought
together for fertilization

(3) The egg cell in embryosac is located at the
micropylar end

(4) Embryosac contains 7 haploid cells

For the discharge of ‘both'male gametes, pollen

tube enter into embryosac through the

(1) Central «cell

(2) Chalaza

(3) Antipodals

(4) Degenerating cell of synergids
Light and non-sticky pollen grains are favourable
for =

(I)xInsect pollinated plants
(2).Bird pollinated plants
(3) Bat pollinated plants
(4) Wind pollinated plants
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If 6N female plant is crossed with a 4N male plant
then the ploidy level of endosperm cell would be:
(1) 3N (2) 9N (3) 10N (4) 8N
Find out the correct ploidy nature of A, B, C
in flowering plants :-
Egg cell — A,
Endosperm — C

(1) A-n, B-2n, C-2n (2) A-n, B-n, C-2n
(3) A-n, B-2n, C-3n  (4) A-n, B-3n, C-2n
Find out the haploid cells among the following:-
(i) Egg cell

(iii) Root cell
(v) Synergid cell
(1) iv, v, vi

(3) i, iii, v, vi

Embryo — B

(i1) Male gamete
(iv) Leaf cell

(vi) Antipodal cell
(2) i, ii, iii

@i, ii, v, vi

Select the correct option in respect of given
diagram :

(1) Octant stage

(3) Globular embryo
Testa of a seed is derived from :-
(1) Ovary wall

(2) Hilum

(3) Nucellus

(4) Outer integument of ovule

(2) Torpedo embryo
(4) Proembryo

Some species of asteraceae and grasses have
evolved a special mechanism to produce seeds
without fertilization called :-

(1) Vegetative propagation.(2):Sexual reproduction
(3) Apomicxis (4) Binary fission

In Citrus and Mango which cell protrude into
embryosac and develop into embryos :-

(1) Placenta
(3) Nucellus

(2) Funicle
(4) Obturator

The'coconut water of tender coconut is :-
(I)Cellular endosperm

(2):Free nuclear endosperm

(3) Helobial endosperm

(4) Polygonum endosperm
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In which of the following endosperm persists in
the mature seed ?

(1) Pea (2) Bean

(3) Groundnut (4) Castor

The primary root and its branches constitute :-
(1) Fibrous root system

(2) Tap root system

(3) Adventitious root system

(4) Stilt root system

Tap roots of the following plant are modified
to store food.

(1) Sweet potato (2) Turnip

(3) Rhizophora (4) Potato

Sub-aerial modification of stem in which a slender
lateral branch arises from the base of the main
axis and after growing aerially for sometime
arches downward to touch the ground is :-

(1) Sucker (2) Stolon

(3) Offset (4) Runner
Underground stem store food in following
except :-

(1) Potato (2) Zaminkand

(3) Colocasia (4) Sugarcane

How many plant in the list given below axile
placentation.

Mustard, Gram, Tulip, Sunhemp, Chilli,
Colchicine, Tomato, Lemon, Argemone, China
rose, Dianthus, Sunflower.

(1) Six (2) Three

(3) Four (4) Five

According to given below diagram. Find out
the type of flower and'position of ovary :-

(1) Epigynous-ovary superior

(2) Hypogynous-ovary inferior
(3)'Hypogynous, ovary superior

(4) Epigynous ovary inferior

The capitulum type of inflorescence is found in:-
(1) Marigold, Sunflower (2) Salvia, Ocimum

(3) Euphorbia, Ficus (4) Ocimum, Ficus
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The leaf is attached to the stem by the leaf base and
may bear two lateral small leaf like structure called

(1) Leaflet (2) Lamina

(3) Stipule (4) Leaf blade

P"A shows which of the following condition?
(1) Epipetalous (2) Epiphyllous

(3) Epicalyx (4) All of the above
The special type of inflorescence found in Ficus
where the female flowers are at bottom and male
flowers near ostiole and are enclosed within a cup
shaped fleshy receptacle with ostiole is called :-
(1) Cyathium (2) Verticillaster

(3) Spadix (4) Hypanthodium
Aggregate fruit develops from :-

(1) Multicarpellary, apocarpous gynoecium
(2) Syncarpous ovary

(3) Multicarpellary, syncarpous gynoecium
(4) Monocarpellary ovary

Asymmetric flower is found in :-

(1) Pea (2) Dhatura (3) Bean (4) Canna
How many of the following contain zygomorphic
flower ?

Pea, Gulmohar, Bean, Cassia, Mustard,
Dhatura, Chilli.

(12 (2)3 (3) 4 (4).5
128. Match the following and choose correct option.
Group A Group B
(A) | Monoadelphous androecium | (i).' | Liliaceae
(B) | Diadelphous androecim (i1). | Solanaceae
(C) | Epipetalous stamens (1ii)'| Fabaceae
(D) | Epiphyllous stamens (iv) | Malvaceae
Options :-
A B C D
(1) (iv) (iit) 1) (i1)
(2) (iv) (iif) (i1) 1)
(3) (iii) (iv) (i1) 1)
(4) (iir) (i1) (iii) 1)
129. The floral formula
Ebr & é K Cu AsuGy
in that of :-
(1) Pea (2) Mustard
(3) Onion (4) China rose

LTS-18/26 .
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. In coconut and mango, the fruit is known as :-

(1) Berry (2) Pod

(3) Drupe (4) Samara
. Following seeds are dicot except :-

(I) Bean (2) Gram (3) Pea (4) Maize
132. These floral characters are of which plant ?
Flower - bisexual, zygomorphic
Corolla - vexillary aestivation
Androecium - diadelphous
Gynoecium - ovary superior
Seed - non endospermic
(1) Mustard (2) Colchicum
(3) Indigofera (4) Belladona
133. How many of the given features are related to
Gloriosa ?

Six tepals, Marginal Placentation, Endospermic
Seed, Epiphyllous stamens.
(1) Three (2) Two  (3) Four (4) One

134. Following floral diagram is of which plant :-

(1) Sesbania
(3) Ashwagandha
135. Match the following :-

(2) Lupin
(4) Asparagus
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Which of the following is not secondary meristem:-
(1) Interfascicular cambium

(2) Cambium in dicot root

(3) Phellogen

(4) Intrafascicular cambium

Which tissue is most abundant in plant organ?
(2) Collenchyma

(4) Sclereids
Permanent tissues, which have cell similar in

(1) Parenchyma
(3) Sclerenchyma

structure and function are called :-
(1) Complex tissue (2) Simple tissue

(3) Meristematic tissue (4) Vascular tissue
In which of the following structure is not found
on leaves :-

(1) Lenticels (2) Hydathodes

(3) Cystolith (4) Raphides

What is absent in the xylem of gymnosperm ?
(1) Tracheids (2) Vessels

(3) Both (1) and (2) (4) Xylem parenchyma
Phloem fibre (Bast fibre) are generally absent in:-
(1) Dicot (2) Primary phloem
(3) Secondary phloem (4) Both (2) & (3)
Identify the correct label and the type of tissue:-

(1) A-Protoplasm; Tissue-Collenchyma

(2) A-Intercellular space; Tissue-Parenchyma

(3) A-Lumen; Tissue-Sclerenchyma

(4) A-Vacuole; Tissue-Collencyma

In dicot root the vascular.cambium is originated

from :-

(1) The tissue docated just below the phloem
bundle

(2) A portion of peticycle tissue above protoxylem

(3) Both (1)' & 1(2)

(4) Intrafascicular cambium and interfascicular
cambium

Which is incorrectly matched :-

(1) Epidermal tissue system — Stomata

(2) Ground tissue system — Xylem

(3) Vascular tissue system — Xylem

(4) Epidermal tissue system — Epidermis
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External protective tissue of plants are :-

145.
(1) Cork and pericycle
(2) Cortex and epidermis
(3) Pericycle and cortex
(4) Epidermis and cork
146. Identify the given diagram and correct labelling:-
(1) Dicot root = A-Root hair; B-Protoxylem
(2) Monocot Root = A-Root hair, B-Metaxylem
(3) Dicot Root = A-Root hair, B-Metaxylem
(4) Monocot Root = A-Root hair, B- Phloem
147. Given below is the diagram of transverse
section of isobillateral leaf. Identify the parts
labelled A, B, C and D and select the right
about them :-
A B C D
(1) | Abaxial | Mesophyll || Phloem | Adaxial
epidermis epidermis
(2) | Adaxial | Mesophyll | Phloem | Abaxial
epidermis epidermis
(3) | Adaxial [ Mesophyll | Xylem [ Abaxial
epidermis epidermis
(4) | Abaxial. | Palisade Xylem | Adaxial
epidermis | mesophyll epidermis

148. Early wood differs from late wood in :-
(1) Being produced in winter

0999DMD310318001

(2) Presence of narrow vessels

(3) Being light in colour

(4) Possessing high density
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149. The youngest layer of secondary xylem lies

(1) Between pith and primary xylem

(2) Just outside the vascular cambium

(3) Just inside the vascular cambium

(4) Just inside the cork cambium

Which is true about heart wood/duramen ?

(D It does not help in water and mineral conduction.

(IT) It is dark coloured but soft.

(IIT) It has trachery elements filled with tannins,
resins, gums, oil, etc.

(IV) It is a peripheral part.

(V) It is sensitive to microbes and insects, hence
is least durable.

() I, 111 (2) II, 1II

31,V @ 11, 1V

Which of following structures are included in

female external genitalia ?

(a) Mons pubis (b) Labia minora

(c) Ovary (d) Uterus

(e) Clitoris (f) Hymen

(g) Labia majora

(I)a, b, c,d, e 2)a, b, f, g
3)c,d,e, f, g 4)a, bye f, g

Several mammary duct join to form a wider A

which is connected to B through which milk is

sucked out. Identify the A & B.

(1) A-Mammary tubule, B-Mammary ampulla

(2) A-Mammary ampulla, B-Lectiferous duct

(3) A-Lectiferous duct, B-Mammary ampulla

(4) A-Mammary ampulla, B-Nipple

Seminal plasma is constituted. by the secretions

of which gland ?

(1) Cowper's gland, prostate gland, Bartholin's
gland

(2) Seminal vesicle; Prostate gland, Bartholin's
gland

(3) Prostate gland, Seminal gland, Bulbourethral
gland

(4) Seminal (vesicle & thyroid gland

Releasing of sperms from seminiferous tubule

is called:-

(1). Semination

(2) Spermiogenesis

(3) Spermiation

(4) Ejaculation
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Identify the A, B, C from above diagram. options:-

(1) A-Nucleus, B-Centriole, C-Mitochondria

(2) A-Acrosome, B-Middle piece, C-Mitochondria

(3) A-Plasma membrane, B-Mitochondria,
C-Middle piece

(4) A-Plasma membrane, B-Mitochondria, C-Tail

In spermatogenesis, first meiotic division leads

to the formation of :-

(1) Spermatid

(2) Spermatozoa

(3) Primary spermatocyte

(4) Secondary spermatocyte

During oogenesis 2™ meiotic division is :-

(a) Completed after puberty

(b) Completed first before puberty

(c) Completed after ovulation

(d) Completed before fertilization

(e) Completed during maturation phase

How many of above statements are correct -

(HDac&e 2)b,c,d @B)ab&e (4)a,de

How many second polar bodies has produced by

a 45 years virgin female in her life :-

(1) 480 (2) 45 3)0 4) 90

Testosterone (androgen)-is secreted by :-

(1) Sertoli cell (2) Seminal vesicle

(3) Interstitial cell (4) Epididymis

Which one of the following is not incorrect ?

(1) Ovary fs also called womb

(2) Myometrium 1s middle thick layer of uterus

(3) Theclitoris lies at the lower junction of two
labia. minora

(4)Opening of uterus covered by hymen

Progesterone attains peak level in which phase of

menstrual cycle ?

(1) Bleeding phase

(3) Leuteal phase

(2) Proliferative phase
(4) Follicular phase
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Wthh one of following hormone is responsible

for ovulation :-

(1) FSH (2) LH (3)GnRH (4)Estrogen

Read the following statements carefully :-

(A) Mentrual cycle occur in human beings only

(B) Mentruation only occurs if the released
ovum is fertilized

(C) Both LH and FSH attain a peak level in the
middle of mentrual cycle

(D) Corpus luteum is degenerated in the
absence of fertilization

(E) The first menstruation occurs just before
puberty is called menarche.

Choose the true and false statements :

A B C D E
(1) | False
(2) | False
(3) | True
(4) | False

False | False | True | True

True | True | False | False

True | False | False | True

False | True | True | False

Ovulation occurs on which day of mestrual cycle?
(1) 14"day (2) 23“day (3) 1*day  (4)28"day
Loss of reproductive capacity in woman found age
of 50 years is :-
(1) Menstruation
(3) Menarche
Which uterine layer undergoes cyclic changes

(2) Ovulation
(4) Menopause

during menstrual cycle ?
(2) Perimetrium
4) All

(1) Myometrium

(3) Endometrium

Zona-Pellucida is a :-

(1) Unicellular layer (2) Multicellular layer

(3) Acellular layer (4) Acrosomal layer

In which stage, fertilized ovum gets implanted into

uterine endometrium ?

(1) Morula (2) Blastocyst

(3) Gastrula (4) Neurula

Which one of the following is not the function of

placenta ?

(1) Secretion of oxytocin during parturition

(2) Facilitates supply of oxygen and nutrient to embryo

(3) Secretion‘of oestrogen

(4) Facilitates removal of CO, & waste material
from embryo

The first movement of foetus and appearance of hairs

on head are usually observed in pregnancy during:-

(1) 2" month (2) 3% month

(3) 4™ month (4) 5" month
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Which of following statement is not incorrect

regarding the parturition ?

(1) The signals for parturition originate from
fully developed foetus & ovary

(2) Relaxin harmone relaxes the pubic symphysis
during parturition

(3) Thyroxine is main parturition harmone

(4) HCG is responsible for labour pain

The harmone responsible for milk ejection is:-

(1) Prolactin (2) Oxytocin

(3) Progesterone (4) Oestrogen

Family planning programme in India launched in:-

(1) 1977  (2) 1971  (3) 1951  (4) 1955

Which of following contraceptive method has

higher failure rate ?

(1) Barrier method (2) Natural method

(3) IUD (4) Chemical method

During menstrual cycle, the safe period is

considered as :-

(1) First 7 days (2) Last 7 days

(3) 10* — 17" day (4) (1) and (2)

A method of sterilisation in which small part

of vas-deferens is cut and tied-up :-

(2) Tubectomy

(4) Oophorectomy

(1) Vasectomy

(3) Hystrectomy
Copper-T works by :-
(1) Inhibiting ovulation
(2) Preventing fertilization

(3) Inhibiting implantation of blastocyst

(4) Inhibiting gametogenesis

MTP is relatively safe upto :-

(1) 12 weeks of pregnancy

(2) 16 weeks of pregnancy

(3) I** trimaster of pregnancy

(4) 1 and 3

Which of following technique can be used for the
infertile couple‘in which male is abnormal?
(1) ZIFT

(2) Al

(3) GIFT

(4) IUT

The most common period for amniocentasis
during pregnancy is :-

(1) 12" weeks

(2) 14™ - 15" week

(3) 10" - 12" weeks

(4) 6™ - 8" week
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ANSWER KEY
Que. 2 4 6 | 7] 891011121314 ]15[16[17]18 ] 1920
Ans.| 4 |1 | 2| a|2|a|1 3334|3421 [3][1]1]1]2
Que.| 21 | 22 | 23 [ 24 [ 25 | 26 | 27 | 28 [ 29 | 30 | 31 | 32 |33 |34 |35 |36 (37|38 | 39|40
Ans.| 3 [ 3 [ 3|1 |43 |3|2]2][1][1][1]|1}2]]2|3][3][1]1]a
Que.| 41 |42 | 43 |44 |45 |46 |47 [ 48|49 |50 |51 52|53 [54]|55][56]|57|58]59]860
Ans.| 2 [ 1 [ 2| a|3[3]|2|3[a|3][1][3a]3[2]4|3[3]|3]|3]a4
Que.| 61 [ 62 |63 [64 [ 65|66 [67 68|69 |70 |71 |72 73 [ 747576 |77 [78 [ 79| 80
Ans.| 3 [ 1 [ 3| 2|22|af3[1]|2]3[1f1][3][3|2]1]|2]|2]3
Que.| 81 [ 82 |83 |84 [ 85|86 |87 8889|9091 ][92[93[94]95][96]9798]99]100
Ans.| 1 |1 [ 1|1 |a]2]|3|2]2|2[4a]2|2[3][a|a]a|1]|1]a
Que.| 101 102|103 [ 104 [ 105|106 | 107 [ 108 | 109 | 110|111 [ 112|113 [ 114 [ 115[ 116 [ 117 [ 118 [ 119] 120
Ans.| 3 | 2| 2| a|a|a|3|a|[3|a|3[3|2[a]]2|2]2|4]|1]3
Que.[ 121[122]123[ 124 [125] 126 [ 127 [128[ 129|130 [ 131|132 133 [ 134 | 135 136 | 137 [ 138 [ 139 140
Ans.| 1 | 3 [ 2| 4|1 |4 |32 203|431 [3|4]|4[1]|2]|1]2
Que.| 141142143 [ 144 [ 145|146 | 147 [ 148|149 150 [ 151 [ 152 153 | 154 | 155 156 | 157 [ 158 [ 159 [ 160
Ans.| 2 |4 [ 3| 2|4 2|2]3|3[1 4|23 [3|[2]|4[1]|3]|3]2
Que.| 161 162|163 [ 164 [ 165|166 | 167 [ 168|169 | 170 [ 171 [172| 173|174 | 175|176 [ 177 [ 178 [ 179] 180
Ans.| 3| 24| 1|43 (3214223241 ]2]|4a]2]2
(HINT - SHEET)
n/2
1. distance = \/(X2—X1)2+()’2—)’1)2+(22—Z1)2 4. j9x8dx+ j cosxdx :>( 9)1 +(sinx)g/2
0 0 0
2 2 2
- \/(8_2) (58 (0-3) - 1_0+sin(gj “sin(0) > 1+1=2
= V6% 122432 = 49 =7 5. y=-x+4 m=-1
] 1 y=mX + ¢ tan@ = —
2. (097)3'= (1+0.03) 6 = 135°
Perimeter = 4a
1 . :|p:49
=1 2003 x = = 1-0.01 =099 a = side of square
3 Rate of increase of perimeter w.r.t. time
jydx area %(3+2)20 50 = @—4%
3. Yave = = = dt dt
jdx 3 3
= 4(0.2) = 0.8 cm/s
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7. Att=1,x=3,x3=6,y,=1y,=5

distance = \/(xB —XA)2 +(ys _YA)2 =3

53% 37°
“«—X—>
< 16m

\ 4

tan37°=£ =>—=—=>h=12
16 16 4

tan53°=— =

> | =
> | =

[SSH N

x=§h =—x12=9m
4

1

y =
ﬁ+ lsin6+£cos6
2 2 2

1
2+ c0s60sin 0 + sin 60cos O

1
2 +sin(0 +60)

maximum value of sin(@ + 60) = 1

Q| =

hence Yinin =

10. 6,+6,=

2

o a

= 20,4 0,500° (0 0,=20)
= 0,230°% = 0, = 60°
sin® 60° + cos? 30°

N4

3 3
—t—=
4 4

N | W

11.

12.

13.

14.

15.

B B/2 : B
160° E’
pa A 90p X30°

A

mo= 2221 g a0
S1no = B > = =
la+bla-b]

1+1+2cosO=1+1-2cosb
= 4cos =0 = 6 =90°
If vectors of same magnitude are acting at same

point and making an angle of e:ﬁ, where
N

N = number of forces.

= = = a+b=23a-3b

Min a-b T
= a=2b

Y =
A=2i-3j+2k B=i+]j+k

Componant of A parallel to

= AB

B=A=—(B

A—”:[21—3J+2k][1+J+k].({+3+12)
(Vo + @+ 0?)

A—|:[2—§+2] ({+3+12)=1+J+k

Componant of A perpendicular to

LTS/HS-2/7
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= X+1+X-1=0
= 0 =90°
For parallel

17.

18.

19.
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21.
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+12J.(x1+33+(x_1)12)

b h b

Percentage error
Ar 2
= _ = 3X—X100=_=11(7
3= x100 5.4 18 ’

Because volume, length and area are defined
by same fundamental quantity.

W = AU = U U,

24.

25.

26.

27.

28.

29.

30.

R S TR S . .
4ng, 3R 4ng, 3R (4ngy)(3R)
1 Yq (9%x10")(3x107%)
R= (ﬂ) = =1m
(47‘580j 3V (3)(9000)
_[2qV
m

2eV 2e(2V)
Vo =4[ and® V4=
m 2m
2(2e)(4V
VG=J% The ratio is 1:1:+/2.

V = N2, vV,
Here N = 1000
V, =1V

= V = (1000)** (1) = 100 V

L P ——
r 2\R 2 3

R
. Distance from surface = r — R =§

Between 2q and —q, net electric field in same
direction. So their resultant can't be zero. Net
field will be zero nearer to charge having small
magnitude (left side of —q)

E, and E, are cancelled
E, and E, are cancelled.

E -p-— 94 __ 4

T 4mg,"(2a)° l6me,a’

r=y(4-1+(2-2°+(0-4)* =5m

vo L4 _ 0x10)2x107)
T

= . =36V
4re,

Field is in the direction of f:ff —1

d LTS/HS-3/7
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41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

Q, = o(4nR?) = K (Let)
Q, +Q, =0 (4m) (4R?) = 4K
Ql + Q2 + Q3 =0 (47'[) (9R2) = 9K

QQ.+Q;

On solving

Q :Q,:Qyulx3:5
As No. of lines related to Q, is more than Q,
50. |Q,[ > [Qy.
EF is non-zero & uniform inside the cavity of
uniformly charged sphere.
Grayitational force doesnt depend on
intervening medium.
Both bodies experience equal & opposite
forces.

1
Number of X = 8><§ =1

Numberof Y=1x1=1

1
Number of Z = IZXZ =3

- formula of compound = XYZ,

1x4/3n®  4/3mr’
Packing fraction = X4/ 3mr _ 4/ 3mr _T

> 21 6

2Ag® ions are replaced by 1 Cd* ion which
results into formation of cationic vacancy.
Fe,,,O is obtained due to deficiency of Fe*
ions and some Fe* ions are oxidised into Fe*?
ions.

In frenkel's defect cation dislocates from its site
to interstitial places therefore density of crystal
is not affected.

200
Molar Mass of element = ————>x6.02 x10%
24%x10
= 50.19 g mol™!
ZxM 4x50.19

N, xV  602x10% x(200x10’10)3

=41.66 g cm™

—din

31. ¢ ‘.
q,=0 L 0=0

32. Work done = AKE
[Fdx =K, -K,

X 1 )
— I (—qEx)dx =0—-—mV,
0 2
X’ _mvV, m
=Ry 2 x=Voygg,

33. Charge can be considered as located at a
distance R from the centre. Total charge is
Q-2Q+3Q) =2Q

vo 1 20_ 0
Hence 4ne, R 2mg R

4. W, =q(V,-V)
or 6.4 x 107" =-1.6 x 10°°(V, - V)
or V,- Vp=-4V
or V, - V.=-4V (- Vg =V,)
or V.-V, =4V

35. T=(-63)i+(8/3)j+(-10)k
|7 = (-633)" +(8/3) + (-10)?

g,/ = 100pC = 100 x 10°%€C
Nm’
q,=4uC=4x10°C,K=9x 10" 2
r
36. Apply szq to.compare the force at point P in
r
each case

38. Net change enclosed = 0 S0 =0

39. _The sign of flux is positive through right end
cap.

40.. Refer the statement & special points of gauss
law.

LTS/HS-4/7 .
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52. Number of Na* ions = 12><1 =3
4

) 1 1
Number of Cl- ions = 8><§+4><E =3

53. O?’= 8><l+6><l =
8 2

AiB:O= 224
33

formula = ABO,
54. Ratio of Fe and O atoms in pure iron oxide
(FeO)
=1:1
Let x atoms of Fe(Il) are replaced by Fe(IIl) in
wustite.
.. Number of Fe (II) present = 0.93 — x
In Crystal total positive charge = total negative
charge
502093 —x) +3x=2
1.86 - 2x + 3x =2
x =0.14

0.14

% of Fe (III) in wustite = 93 %100 =15.05%

55. In fcc lattice -
O.H.V — At centre of unit cell.

1
THYV — ZOf distance along body diagonal

from corner

length of body diagonal = ﬁa

.. distance between OHV and THV is = %
A=1 —% = %

57. - A, B, > A B,
B—>6x—=3

58.

59.

60.

61.

62.

63.
64.

\/ga=2(r+ +r')

 2x(1.69+1.81)
a= 1.732

Number of carbon atoms

= 4.04A

= corners + face centres + Alternate T H.V.

= 8xl+6xl+8xl=8
8 2 2

A a
a/} ‘\5
CJ \
G B
=D

a

Distance between voids A and C = E

((II0OJA O C Ooonanonm= %)
a
distance between void A and B = ﬁ

a
((J00tA 0 B OI0OIOwonI= ﬁ)

J3a

Distance between void B and C = T

3
(0B 0 C O00iodmon = %)
In CaF, structure Ca*™ ions are at CCP lattice
points and F~ ions are at all T.H.V. while in
Na,O structure O* ions are at CCP lattice points
and Na* ions are at all T.H.V.

+

r—_for octahedral void = 0.414
r

Mostly colour is due to F centre in solid
In end centered unit cell

Effective no. of particles = SX% + 2x1

[ I

—
corners face
centres

=1+1

Il
\S)

0999DMD310318001
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65. Cu, Hg I, —> 2Cu" + Hg*" + 4I"
Anion is ccp = effective ions = 4

No.of Cucations =2 } — Total no. of cations = 3

No.of Hg** cations= 1

Total No. of THV = 8

3
Filled fraction of THV = g

ZxM PE ZxV,
V. xN, | 7T v

unitcell uc

66. Crystal density =

Z. x M xPE

= i7rr3><Z><NA
3

19.4 = 184 xPE

%n(0.136 x107)* x6x10*

PE = 0.68 = 68% = Body centered cubic
67. In Na,O structure all tetrahedral voids are
occupied
68. TE = n x Energy of one photon
1 x 1000 J/s = n x hv

o 1000 _ 1000x10%
T 6.626x107*x800 ~  8x6.7
_ 1000 g
536
n=1.86 x 10*

69. In neutral atom 30 protons and 30.¢™ are present
therefore in +2 charged ion:30 protons and
28 e~ will be present.

70. Species with same’ number of neutrons
m=A-2)

71. ron’

n_@27
o (3
R4
9
9R
N3 T

72.

73.

74.
75.

77.

78.

79.

80.

81.

82.
83.

84.

8s.

86.

87.

-3.4=TE
n=2 (1°" excited state)
Max. no. of orbitals' ="n*=,3)" = 9
Number of orbitals (represented by m) in a
subshell = 2//+1
m-—1

(A5

Energy of electron will be emitted on

movement of e~ from higher shell to lower shell

and the difference in energy E, and E,| is

maximum.

Cr = 1525*2p®3s*3p®3d’4s’

m = +1 will be for 2p, 3p, and 3d,, orbitals
Minimum 2 electrons will be with
anticlockwise spin and maximum will be 3.

_h 6.62x107**

mv  9.1x107'x2.19x10°

Number of e =2+8 + 8 + 2 = 20
15252 2p® 35?3p° 4s?

=332 % 10"m

m = 0, s=+§ = number of suche =6

Radial nodes for a subshell is =n -/ -1
Only one electron can have a definite set of four
quantum numbers.

(LE),, =(LE)yx 7> = 13.6 x 4 = 54.4 eV

LTS/HS-6/7
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ron’ ==—
, 25
E3 - E1 = 12.09 eV for H-atom.
E,-E = E—E1= _—8151 = §><I.E
9 9 9
d 0999DMD310318001
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91.
92.
93.
94.
97.

100.
103.
105.
111.
112.
115.
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126.
127.
130.
131.
132.
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134.
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A h 1
V= 4mtm AX
_ 6.62x107 m/sec
T 4x3.14x9.1x107 x107"°
= 5.76 x 10° m/sec
__1_5
AP =
n=3 ____ 5
n=1

Number of spectral lines

_ (n,—n)(m, —n, +1)

- 2
NCERT XII Eng Pg # 20 para 3 line 1,2
NCERT XII Eng Pg # 21 para 1 line 3
NCERT XII Eng Pg # 21 para 2 line 1,2
NCERT XII Eng Pg # 22 para 1 line 6,7
NCERT XII Eng Pg # 24 para 3 line 6
NCERT XII Eng Pg # 27 para 6 line 1
NCERT XII Eng Pg # 27 para 3 line 3
NCERT XII Eng Pg # 29 para 1 line 1,2,3
NCERT XII Eng Pg # 38 para 6 line 3
NCERT XII Eng Pg # 38 para 6 line 8,9
NCERT XI Eng Pg # 65 last line
NCERT XI Eng Pg # 68 para 2 line 2,3;4
NCERT XI Eng Pg # 70 para 1 line 152
NCERT XI Eng Pg # 71 para 4 line 8
NCERT XI Eng Pg # 72 para 1 line 1
NCERT XI Eng Pg # 72 para 4 line 9,10,11,12
NCERT XI Eng Pg # 72 para 4 line 6,7,8,9
NCERT XI Eng Pg # 76 para 4 line 1
NCERT XI Pg # 76 para 5 line 3
NCERT XI Pg # 79
NCERT XI Eng Pg # 81
NCERT XI Eng Pg # 80

135.

136.
137.
138.
139.
140.
145.
146.
148.
150.
151.
152.
153.
154.
15S.
156.
159.
160.
161.
162.
163.
164.
165.
168.
169.
170.
171.
173.
174.
176.
177.
178.
179.

NCERT XI Eng Pg # 86 para 3 line 1,2
NCERT XI Eng Pg # 85 para 3 line 1,2
Pg # 84, para 3

NCERT XI Eng Pg # 94 para 6
NCERT XI Eng Pg # 86 para 2 line 5,6
NCERT XI Eng Pg # 86 para 1 line2,3,4
NCERT XI Eng Pg # 87 para 3 line 3,4
NCERT XI Eng Pg # 87 para 3 line 5,6
NCERT XI Eng Pg # 91 para‘3 line 1,2,3
NCERT XI Eng Pg #:97 para 3 line 6,7
NCERT XI Eng Pg #96 para 1
NCERT XI Eng'Pg # 96 para 3
NCERT XII, Pg # 46, last para

NCERT XII, Pg # 47;71* para

NCERT XII, Pg # 44, 2" para

NCERT XII, Pg # 47, 2" para

NCERT XII, Pg # 48, fig. 3.6

NCERT XII, Pg # 47, 2" para

NCERT XII, Pg # 43, 2" para

NCERT XII, Pg # 46

NCERT- XII, Pg # 50

NCERT- XII, Pg # 51

NCERT XII, Pg # 49,50,51

NCERT XII, Pg # 55

NCERT XII, Pg # 51, 1* para

NCERT XII, Pg # 53, 1% para

NCERT XII, Pg # 53

NCERT XII, Pg # 54

NCERT XII, Pg # 54

NCERT XII, Pg # 57, 2" para

NCERT XII, Pg # 60

NCERT XII, Pg # 62

NCERT XII, Pg # 60

NCERT Pg # 62

NCERT XII, Pg # 64
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